MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION

MENT OF REGULATORY AND ECONOMIC RESOURCES (RER) 11805 SW 26 Street, Room 208

BOARD AND CODE ADMINISTRATION DIVISION Miami, Florida 33175-2474
T (786) 315-2590 F (786) 315-2599

NOTICE OF ACCEPTANCE @OA) www.miamidade.gov/economy

Acurlite Structural Skylights, Inc.
1017 North Vine Street, P. O. Box 5
Berwick, PA 18603

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed and accepted by Miami-Dade County Product Control Section to
be used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. RER reserves the right to
revoke this acceptance if it is determined by Miami-Dade County Product Control Section that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 9/16” Laminated Glass and Aluminum Extrusions Skylight System

APPROVAL DOCUMENT: Drawing No. LMNOA-001, titled “Secure Series Large Missile” sheets 1 through
12 of 12, dated February 04, 2010, Revision #2 dated June 10, 2019, prepared by Acurlite, signed and sealed by
Robert J. McCloy, P.E., on June 17, 2019, bearing the Miami-Dade County Product Control Revision stamp with
the Notice of Acceptance number and the expiration date by the Miami-Dade County Product Control Section.
MISSILE IMPACT RATING: Large Missile Impact Resistant

LLABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, City, State, and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises and renews NOA #22-1011.07 and consists of this page 1, evidence submitted pages E-1 & E-
2 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E., M.S.

A/é ” Vb~ NOA No. 24-0729.05
MIAMI-DADE COUNTY

_ Expiration Date: 07/25/2029
SRSV 08 / )5 14 Approval Date: 08/15/2024

Page 1



Acurlite Structural Skylights, Inc.

[y

[\

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #10-0217.07

DRAWINGS

1. Drawing No. LMNOA-001, titled “Secure Series Large Missile” sheets I through
12 of 12, dated February 04, 2010, prepared by Acurlite, signed and sealed by
Robert J. McCloy, P.E., on February 08, 2010.

TESTS

1. Test report on Large Missile Impact Test, Cyclic Load Test, and Uniform Static
air Pressure Test on Acurlite Structural Skylights, prepared by HTL, Report No.
0541-0418-09, dated 12/14/09, signed and sealed by Vinu J. Abraham, P.E.

2. Corner joint pull-test, prepared by HTL, Report No. 0541-0910-09, dated
11/05/09, signed and sealed by Vinu J. Abraham, P.E.

CALCULATIONS
1. Calculation titled “Skylight Structural Calculations”, pages 1 through 359 of
359, dated 01/22/10, signed and sealed by Robert J. McCloy, P.E.

QUALITY ASSURANCE
4 By Miami-Dade County Building Code Compliance office.

MATERIAL CERTIFICATIONS
1. Die Drawings for Extrusion Members.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #16-0502.04

DRAWINGS

1. Drawing No. LMNOA-001, titled “Secure Series Large Missile” sheets 1 through
12 of 12, dated February 04, 2010, Revision #2 dated June 10, 2019, prepared by
Acurlite, signed and sealed by Robert J. McCloy, P.E., on June 17, 2019.

TESTS
1. None.

CALCULATIONS
1. None.

QUALITY ASSURANCE
1. By Miami-Dade County Department of Regulatory and Economic Resources.

MATERIAL CERTIFICATIONS
1. None.

Lo A g~

Helmy A. Makar, P.E., M..S.
Product Control Section Supervisor
NOA No. 24-0729.05

Expiration Date: 07/25/2029
Approval Date: 08/15/2024



Acurlite Structural Skylights, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #22-1011.07
DRAWINGS
1. None.

> W

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. By Miami-Dade County Department of Regulatory and Economic Resources.

E. MATERIAL CERTIFICATIONS
1 None.

F. STATEMENTS
L FBC, 2020 Edition Compliance Letter, dated September 28, 2021, issued by
Engineered Glazing Systems, signed and sealed by Robert J. McCloy, P.E.

4. NEW EVIDENCE SUBMITTED
A. DRAWINGS
1. None.
B. TESTS
1. Nore.
C. CALCULATIONS
1. None.
D. QUALITY ASSURANCE
1. By Miami-Dade County Department of Regulatory and Economic Resources.

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS

i FBC, 2023 Edition Compliance Letter, dated July 01, 2024, issued by
Engineered Glazing Systems, signed and sealed by Robert J. McCloy, P.E.

}LWM

elmy A. Makar, P.E., ML.S.

Product Control Section Supervisor
NOA No. 24-0729.05

Expiration Date: 07/25/2029
Approval Date: 08/15/2024



Notes:

1. The skylight system indicated on these shop drawings has been verified for compliance in
accordance with the 2017 Florida Building Code. Maximum design pressure +80psf and -80psf.
2. The skylight system may be installed in High Velocity Hurricane Zone.

3. These shop drawings are generic and do not provide information for site specific projects.

3. Structural adequacy of the supporting structure is not part of this product approval. Design of
the supporting structure is the responsibility of the engineer of record for the project.

4. Design of the supporting structure shall take into account the loads being transferred from the
skylight system (reactions) to the supporting structure.

5. The skylight system indicated on these shop drawings tested for large missile impact in
accordance with TAS 201/202/203.

6. See sheet 4 of 12 of these shop drawings for glazing options

7. Aluminum in contact with dissimilar materials shall be protected in accordance with the
Florida Building Code.

PYRAMID DOUBLE PITCH WITH GABLE

SEGMENTED BARRELL QUATER VAULT
WITH GABLE

POLYGON

STRAIGHT EAVE LEAN-TO
WITH GABLE

POLYGON WITH JACK RAFTERS

LARGE MISSILE

APPROVED FOR GLASS TYPE "C" ONLY

SINGLE PITCH WITH GABLE

SEGMENTED BARRELL HALF VAULT

WITH GABLE

E

ixpiration Di
i.y}/ A ﬁ,
Miafui D, roduct €

Floride

= Z4—07Z‘i 05
e o']/ZS/Z ozq

itvol

o

AN kM|8/10/18 JUPDATED TO 2017 BUILDING GODE

A\ .M. 4/28/18 JUPDATED TO 2014 BUILDING CODE

REY, |BYS | DATE:

acurlite
engineering light

2/4/10
Aceriies Sernceral Shyfights Ins,

©

1017 Norch Vins Serest. PO Bax 3

Barwick, PA 18503

® Pormsen @ wormess  sales@acurlite.com

DADE COUNTY USE

(%%
o’

yirscder

- Jol }*

ﬁ 7/25.

o7
2

a3 gomply
Building

LARGE MISSLE

COVERSHEET




© ®
s / 2\ ; P 7 s/ z

] = = B — ==

[+

2 DAYLIGHT OPENING DAYLIGHT OPENING »

b SEE CROSS SECTION CS—1 SEE CROSS SECTION CS—1 g 5
X 16‘32-‘“ ',,uz: g § g
e Nz e 88

1 = =z|2
e oS e ’ T2 CROSS SECTION CS-1 52

= < - e

: LD ° e 3k

S 5/ 3 ele

. BB
' e e el — — o 15-4 1/2" 35
S QUT TO OUT OF CURB £i8
DAYLIGHT OPENING DAYLIGHT OPENING & 158 4N | 2[e
: OUT TO QUT OF FLASHING 2|,

A SEE CROSS SECTION CS—2 ' SEE CROSS SECTION CS—2 ’ g) g §§

| 19 z 1=

: £).5 .5 SRR
% ) ¥8 % ;
N \% Nk < 2
O GLASS SIZE: CG—2 GLASS SIZE: CG-2 =9 »3
«,w;j GLASS TYPE: B GLASS TYPE: C 3 5 To o X b &
5 = £ 233 LIS ' n s
- T4 [ 2l ™ A RS 0 1290 s F;

l = £ 5 |22.62° BUWE A K WG = SR S 04y, 7 OF £
3 Ak > 10,080 \lpe et SRNNYen? 1Ay, BB
L W T S - ! 05, R TR ¢
P?(\'\ s = AN e 3
W 7 \Y /// “ N o go O

—— e = [e— — < ks /”¢/ S O ] ! ‘
| 1 L LU ) = S~ prtk VIR

4 5 1 - & N o . .

E &/ &/ E7 1, 2 CROSS SECTION CS-2 S ol s ?g‘g é

|

< 63 2 / SCALE : 3/8" = 1’0" = © g
f D i ' £ads
p 1§ =R 1
O GLASS SIZE: CG-3 GLASS SIZE: CG-3 GLASS SIZE: CG—3 GLASS SIZE: CG-3 <0 ‘ 154 12" ] Q R i
¢ GLASS TYPE: B GLASS TYPE: B GLASS TYPE: C GLASS TYPE: C fk , PR o 6L | o giei

REL]
- <S5 L " W -
Yo DAYLIGHT OPENING DAYUGHT OPENING DAYLIGHT OPENING DAYLIGHT OPENING s S T O Y e ! o
i - SEE CROSS SECTION —-||~— SEE CROSS SECTION —]| | | |— SEE CROSS SECTION —| |~ SEE CROSS SECTION — -
4 cs-3 Ccs-3 cs-3 cs-3 o
<
~
\
X s o~
— e 1] s =
\ o
PLAN VIEW SEAL INTERSECTION OF ALL PRESSURE CAPS
SOAE: F = e AND COVER CAPS. USE DOW CORNING 795

©

12 5

5 |22 62 N

A
- CROSS SECTION CS-3
—_—)
1 l SCALE : 3/8 = 10

Co = 15-4 1/2°
Lag e | OUT TO QUT OF CURB
J s T9E 15'-8 9/16”
x5 GLASS SIZE: CG—4 GLASS SIZE: CG-5 T st gy e PR OUT TO OUT OF FLASHING

GLASS TYPE: A GLASS TYPE: C 8 eocnplying wih the Flaidy
l ol : ’ . 2‘{7' 07,2‘;:90 g
) | -y | 28/ 2-
z H - J Ol 26/ DADE COUNTY USE
. /T-0/ [ 7'-0 1/32 By ) / W )
AYLIGHT OPENING wa DAYLIGHT OPENI Mikii DadZ “hduct Contr)
15'-8 9/16" :
OUT TO OUT OF FLASHING :

CDUCT REY

GABLE VIEW

SCALE : 3/8" = 1'-0°

3/8 X3 X3X4LONG

INTERMEDIATE PURLIN SUPPORT ANGLE

ATTACH TO CURB USING 1/2-13 HEX HD TAP BOLT

DRILL AND TAP INTO STEEL

ATTACH TO PURLIN USING (4) #12 X 1 H.WH. TEK SCREWS
QUANTITY, SIZE AND REQUIRMENT OF SUCH BASED ON
SIZE AND GEOMTRY OF SKYLIGHT

(NOT PART OF PRODUCT APPROVAL)

NOTES:
1. SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES.




T | Lo I
| ]
- — — © 1 [ [ © ©
I L
s | | Lot |
- | - « = W = ggé
(- ho S
[ i cE
| L | L N Sk
o | | olp
. (- | offf i Blg
i o i | EM £
| 88 o s | A - o RS g8le
T% Salhss TPE: © i (O N 1 [ S8
g il | - sitn 1 33ls
<€ < o
i | (N Sl il
o | - | A N £
o , PSS
| z u I I w | | L I w Il | i E
o . R AN [ 1N BN
s Z leo NI : Z |, ] Z o &
S8 oLass sizE: cot "é GLASS SIZE: CG-2 G> 3‘5 NE2K I " N6y & I ” N Il l’ m%
(15 =2 Pgies TvRE: ¢ LI 38 GLASS TYPE: C &2 o= il I ~s>S Hi G - - I LI iy °
~ g N e 13 geiifln f orsll 4 g | |58 g
1O o T « CEF=ETH| o2 °
% o | e oh il TS o o W —
{ < = o © o < = . LR i
- s 3w o S A@w o 3| Mmoo = Egg,s
| - m ! L of i
[ fin | [ = 1.
’ o | S H
. % GLASS SIZE: CG—3 it 1l I I 11l I " %[ 1 I o
BN S T - || AL N -1 | . 3
ot o i ety o
1 b= o .( i
n3 (- I A 1T o
8 | o sitm
o i o
t - L N g
o o o |
P o i N
S L u I u I TANE B "
| : S Z
_ o| | ol | T&e o
| ' : b | = = \ <
| == A a
— | ‘
i gl — ! |
=4 1/4" =4 1/4" ¥4 1/4° ‘%‘ dl | o
DAYE.GHJ :;;NING DAYU'GHT OPE.NING DAYLIGHT OPENIN : 5 & ()]
C.L. TO C.L. OF RAFTER C.L T04(-:-.(Ls. zgf?RAFTER C.L. 7045.61_ %/;RAFI'ER DADE COUNTY USE‘ wl E i
14'—1 1/4" B
OUT TO OUT OF FLASHING %U%
TEST SPECIMEN ELEVATION N— PRODUCTRENISED O EZSES
SCALE : 3/4" = 1'~0° 13 with the Florida ; 85 complying with the Floside =Y :._'"‘ A
‘{ 0729.05
) Z / = 2.02_9

Epic
j =20
et i

H ERY TN NN =i
Bimny Dadf rotaet Tontrn!

f‘ 'h H'?
NOTES:

1. SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES.




{2
CG—1 94 x 99
CG—2 54 x 96

CC—3154 x 49 5/8
CG—4 | SEE PATTERN
CG—5| SEE PATTERN

/ 1/4" TEMPERED GLASS
i

.035 DUPONT SENTRYGLAS PLUS INTERLAYER

(NOA # 07—1116.04) |

8 /46"

1/4” TEMPERED GMSS/

GLASS TYPE
NOT APPROVED FOR LARGE MISSILE IMPACT

.060 Solutio Saflex PVB INTERLAYER
(NOA # 03-0827~08)

(APPROVED FOR SMALL MISSILE IMPACT)

(UNDER SEPARATE NOA)

NOTES:

1. SEE SHEET 2 AND 3 OF 12 FOR LOCATIONS OF GLASS SIZES AND

TYPES.

3 1/4'—]

CG—4
l 7-5 3/8"
4
ﬁ C6-5
7'-5 3/8"

/1 /4" TEMPERED GLASS
1/4" TEMPERED GLASS/

GLASS TYPEB

— 9/16" —

NOT APPROVED FOR LARGE MISSILE IMPACT
(APPROVED FOR SMALL MISSILE IMPACT)

(UNDER SEPARATE NOA)

.090 DUPONT SENTRYGLAS PLUS INTERLAYER

GLASS

/ 1/4" TEMPERED
(NOA # 07-1116.04)

1/4” TEMPERED GLASS /

GLASSTYPEC
APPROVED FOR LARGE MISSIL:

)

, e |
IMBACT 1

"~ l—g/18" -

¢

[ A km.[4/28/18 UPDATED To 2014 BUILDING CODE

2 KM, 8/10/18 JUPDATED TO 2017 BUILDING CODE
REY. |BY; | DATE:

o
::‘ﬁ;f
o

© Tormseee @ orsnessy  sales@acurlite.com

%

P ad

:

acurlite
engineering light
Acurfite Strectural SyBights Toc.
1017 Wecth Vine Stroet, PO Bem §
Berwick, PA 18203

2/4/10

©

DADE COUNTY USE

h the Florida

LLY-9729.0¢

Expiratios '»sv-r-dyl/ﬁ,inq

AL ARGE MISSLE




CONT. EPDM GASKET

1/4 x 1/2 SETTING BLOCK
(2) PER BAY 4 LONG LOCATED © 1/4 POINTS

1/4-20 X 1 3/4 H.WH. SCREW TYPE "F"
LOCATED @ 6" 0..C.

ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE

3/18 ALUMINUM GLASS REST
(2) PER BAY 4 LONG LOCATED @ 1/4 POINTS
508545 EXTRUDED ALUMINUM COVER CAP

$35591 EXTRUDED ALUMINUM PRESSURE CAP

1/8 x 1/4 ALUMINUM POP RIVET
LOCATED @ 4" 0.C.
ATTACH CLOSURE FLASHING TO ANGLE SPACER

N .040 FORMED ALUMINUM ANGLE SPACER

\_#12 x 1 HW.H. TEK SCREW
LOCATED ® 12" 0O.C.
ATTACH ANGLE SPACER TO PURLIN

#14 x 1 1/2 HWH. TEK SCREW
| ATTACH PURLIN TO RAFTER
(2) PER END (4) PER PURLIN

HOB857 EXTRUDED ALUMINUM PURLIN

5/8-11 HEX HD. CAP SCREW
WITH FINISH NUT, LOCKWASHER
AND FLAT WASHERS BOTH SIDES
ATTACH STRUCTURAL ALUMINUM ANGLE TO RAl
4 1/2" LONG AT INTERIOR RAFTERS

11/2" AT EACH CORNER

—~— .040 FORMED ALUMINUM CLOSURE FLASHING

3/8 x 4 x 4 x 6 9/16 LONG
STRUCTURAL ALUMINUM ANGLE

— 2 11/32° 15/16" /}—

/

/

(2) PER INTERIOR RAFTER

(? AT EACH CORNER

1/2-13 x 2 GRADE 5 HEX HD. TAP BOLT
WITH FLAT AND LOCKWASHER

DRILL AND TAP INTO STEEL

USE DOW CORNING 795 SILICONE

N .040 FORMED ALUMINUM SILL PLATE

#10 x 1/2 S/S PAN HD. S.M.S.
LOCATED @ 12" O.C.
ATTACH CLOSURE FLASHING TO SILL PLATE

3/16 x 1/2 FOAM TAPE

ALLOW 3/4" INTERRUPT © EACH RAFTER C.L

{ ) SILL
DETAIL

STEEL TUBE

(NOT PART OF PRODUCT APPROVAL)
SEE DETAIL 16 ON SHEET 9 FOR
CONCRETE CONNECTION DETAIL

-
=
-

ATTACH STRUCTURAL ALUMINUM ANGLE TO STEEL

o

SEAL IN AND AROUND LUG AND FASTENER

F

~

—~
=

\

—

\

e
o

\

©)

//
/

3/8-16 X 3 1/2 HEX HD. CAP SCREW
WITH FINISH NUT, LOCKWASHER

AND FLAT WASHERS BOTH SIDES

ATTACH INTERNAL LUG TO RAFTER

EXTRUDED OR FORMED COMPRESSION RING
USED FOR DIFFERENT CONFIGURATIONS

\ N
\ N\

—~
=

\

1/4—20 x 1 FLAT HD SCREW
ATTACH RAFTER TO INTERNAL LUG

TO0985 EXTRUDED ALUMINUM INTERNAL LUG

E E } HIP

DETAIL
1/4-20 X 1 3/4 H.WH. SCREW TYPE "F"
LOCATED © 6 0..C.

DATE:

£y KM.[6/10/18 JUPDATED TO 2017 BUILDING CODE
[\ Kai|4/28/16 IUPDATED TO 2014 BUILDING CODE

REV. |BY

ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE

DADE COUNTY USE

/- .040 FORMED ALUMINUM COVER CAP

125 FORMED ALUMINUM PRESSURE CAP
CONT. 5/16 X 1/2 FOAM TAPE

CONT. SILICONE SEALANT
USE DOW CORNING 785

CONT. EPDM GASKET

light

engineering

acurlite

2/4/10

A

DADE COUNTY USE

©

@5’
N

Acuetits Screctural Skyhights Inc,

1017 Neeth Vins Srrest, PO Bz 3

Berwick, PA 18508
@ BT @ ST

©,
/
/

/

/

:

EXTRUDED ALUMINUM
INTERNAL LUG

1/4—20| x 1 FLAT HD SCREW = ' .
ATTACH|RAFTER TO INTERNAL LUG

®
®

H08898 EXTRUDED ALUMINUM RAFTER

]
®

3/8-16
WITH FIN
AND FLA
~ ATTACH
~
RN e
~ e .
\\\ ~
~O > 1/4-20
i ~ s ATTACH
~

)
AN

DETAIL

e MNIFET A NC 49 AR N ACS OIS AND TYDESR

ILARGE MISSLE




THIS DETAIL NQT PART OF
LARGE MISSILE PRODUCT APPROVAL

5[2262

.040 FORMED ALUMINUM CLOSURE FLASHING

#12 x 1 HWH. TEK SCREW
—— LOCATED @ 12" 0.C.
ATTACH ANGLE SPACER TO PURLIN
040 FORMED ALUMINUM ANGLE SPACER

1/8 x 1/4 ALUMINUM POP RIVET

LOCATED @ 127 0.C.

ATTACH CLOSURE FLASHING TO ANGLE SPACER

1/4-20 X 1 3/4 H.WH. SCREW TYPE "F"
LOCATED © 6" 0..C.

ATTACH PRESSURE CAP TO RAFTER

EMBED HD IN DOW CORNING 795 SILICONE
S08545 EXTRUDED ALUMINUM COVER CAP
535591 EXTRUDED ALUMINUM PRESSURE CAP

CONT. SILICONE SEALANT
USE DOW CORNING 795

CONT. EPDM GASKET

#14 x 1 1/2 HWH. TEK SCREW
ATTACH PURLIN TO RAFTER
(2) PER END (4) PER PURLIN

HOBB57 EXTRUDED ALUMINUM PURLIN

1/4 ALUMINUM GUSSET PLATE
(2) PER RAFTER

1/4—-20 x 1 FLAT HD SCREW TYPE “F~
ATTACH RAFTER TO GUSSET PLATE

_/®\_RIDGE/KNEE

PRODUC

as comp

21-072%:05
0D d 7728 /2029

f// /47 M"
Miami D Prodfic jirol
NOTES:

1. SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES.

Buildi

/5 HORIZONTAL

1/4-20 X 1 3/4 HW.H. SCREW TYPE “F"
LOCATED @ 6" 0..C.

ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE

$08545 EXTRUDED ALUMINUM COVER CAP

$35591 EXTRUDED ALUMINUM PRESSURE CAP

CONT. SILICONE SEALANT
USE DOW CORNING 795

CONT. EPDM GASKET

#14 x 1 1/2 HW.H. TEK SCREW
ATTACH PURLIN TO RAFTER
~~ (2) PER END (4) PER PURLIN

/

HOBB57 EXTRUDED ALUMINUM PURLIN

"\ 6/ DETAIL

DATE:

A km]e/10/18 JUPDATED TO 2017 BUILDING CODE
A [k1]4/28/16 JUPDATED TO 2014 BUILDING CODE

&
g
% £
RSN
SXON
a)u w 0
S
Sl
«s?isfg
®

§

©

DADE COUNTY USE

B

T e 103

25/07
A

' LARGE MISSLE




1/4-20 X 1 3/4 HWH. SCREW TYPE °F 1/4-20 X 1 3/4 H.WH. SCREW TYPE “F"

LOCATED © 6" O..C. 3
CH PRESSURE CAF TO RAFTER LOCATED © 6" O..C.

énTngéD HD IN DOW CORNING 795 SILICONE EAAT‘EACH PRFSSURE cAg TO RAFTER
S08545 EXTRUDED ALUMINUM COVER CAP ggaggs 'E)P%DES Liumﬁ %’8\&‘

S$35591 EXTRUDED ALUMINUM PRESSURE CAP

.040 FORMED ALUMINUM CLOSURE FLASHING
CONT. SILICONE SEALANT
USE: DOW 'CORNING. 295 1/4-20 X 1 3/4 HMWH. SCREW TYPE "F*
LOCATED @ 6" 0..C.
ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE
S08545 EXTRUDED ALUMINUM COVER CAP
$35501 EXTRUDED ALUMINUM PRESSURE CAP
CONT. SILICONE SEALANT \
SRSl SO et USE DOW CORNING 7957\  \

535591 EXTRUDED ALUMINUM PRESSURE CAP ; £

CONT. SILICONE SEALANT
USE DOW CORNING 795

N

.040 FORMED ALUMINUM ANGLE SPACER

#12 x 1 HWH. TEK SCREW \
LOCATED © 12" O.C. A "
ATTACH ANGLE SPACER TO PURLIN . CONT. EPDM GASKET

.040 FORMED ALUMINUM CLOSURE FLASHING

A K¥.]8/10/19 JUPDATED TO 2017 BUILDING CODE
A\ M]4/28/18 JUPDATED TO 2014 BULDING CODE

5
#2 x 1 HWH. TEK SCREW _/ 5
K oo CONT. EPDM_GASKET ;
ATTACH ANGLE SPACER TO PURLN |
| o s o " 8
#2 x 1 HWH TEKScREW | 1t | N — — — — R —— - Tt 3
LOCATED © 12" 0.6, —————— : \ B £
ATTACH ANGLE SPACER TO PURLIN \ HOB857 EXTRUDED ALUMINUM PURLIN J0 A0 Wit g
HO8857 EXTRUDED ALUMINUM PURLIN | DS
.040 FORMED ALUMINUM ANGLE SPACER #14 x 1 1/2 HWH, TEK SCREW / " g
N\ #14 x 1 1/2 HWH. TEK SCREW ATTACH PURLIN TO RAFTER L -&! X
S08545 EXTRUDED ALUMINUM COVER CAF-—\ ?ZT;‘F,\%; r;tdgu&)n;g\%tzm (2) PER END (4) PER PURLIN 4: o %2 -
L]
$35591 EXTRUDED ALUMINUM PRESSURE CAP—\ 700985 EXTRUDED. ALUMINUM v— %0 2 s
1/4-20 X 1 3/4 HWH. SCREW TYPE "F" g égg
LOCATED © 6" 0..C. S L $
ATTACH PRESSURE CAP TO RAFTER HOBB58 EXTRUDED ALUMINUM RAFTER —| I e | O a 3
EMBED HD IN DOW CORNING 795 SILICONE 1/4-20 x 1 FLAT HD SCREW SRRSO N, & iai
ATTACH RAFTER TO INTERNAL LUG PEPRINS. RS Qg ris
®

#12 x 1 HWH, TEK SCREW
LOCATED @ 12" O.C.

'"Tl" ——— HOB8858 EXTRUDED ALUMINUM RAFTER 'jE jE

l

[

I ‘
o o

2/4/10

ATTACH SLOPE PURLIN TO SLOPE RAFTER —— I Floids /\ RAFTER 3/8-16 X 3 1/2 HEX HD. CAP SCREW A
ALSO ATTACH VERTICAL GABLE POST AT APEX 1 FINISH NUT, LOCKWASHER o == ==
USING (4) FASTENERS : ND FLAT WASHERS | SRR, RO |
() : i % ;/_‘0(‘7%2:' DETAIL ATTACH INTERNAL LUG TO RAFTER 4 o
i s Lk o 1A e - |
LOP AT ENDS btit— by
AND GABE POST AT CENTER ﬁ;GABLE HEAD optrol o
(3) AT EACH END AND (4) AT CENTER "\ DETAILL - HO1071 EXTRUDED ALUMINUM TUBE ] L0
CONT. siLI 3/8 x 3 x 3 %2 1/2 LONG /
e B s STRUCTURAL ALUMINUM ANGLE
: N 0l | / (1) PER EACH SIDE OF GABLE POST GUSSET PLATES °
CONT. EPDM GASKET (2) PER, GON NOT SHOWN
\ i M o oo ek FOR cLARTY

#2 x 1 HWH. TEK SCREW
LOCATED @ 127 O.C.
ATTACH PURLIN TO TUBE

FACE OF TEST .BUCK &

) // Zf &3 OT FOR PRODUCT APPROVAL) "<

Ny : JAMB RA

| | Il |
S08545 EXTRUDED ALUMINUM COVER CAP—\ 1| / / Qt#A&AgrgcgﬂmsgiLagmmm%s
$35591 EXTRUDED ALUMINUM PRESSURE CAP~\ & ANGLE TO GABLE POST

1/4-20 X 1 3/4 H.WH. SCREW TYPE “F" 1/2-13 x 2 HEX HD. TAP BOLT
LOCATED ® 6" 0..C WITH FLAT AND LOCKWASHER

ATTACH PRESSURE CAP TO RAFTER DRILL AND TAP INTO STEEL
EMBED HD IN DOW CORNING 792 sﬁc”oENE_\ / ATTACH STRUCTURAL ALUMINUM ANGLE TO STEEL

SEAL IN AND AROUND LUG AND FASTENER
#12 x 1 HW.H., TEK SCREW

28/32

/

——— S31713 EXTRUDED ALUMINUM PURLIN

TIENE. TEK SERkY USE DOW CORNING 795 SILICONE
ATTACH ANGLE SPACER TO PURLIN DADE COUNTY USE
W
Lis- :I
.040 FORMED ALUMINUM ANGLE SPACER SggTbos\LUggzﬁmsgA'}gg T 2 ﬁ
.040 FORMED ALUMINUM CLOSURE FLASHING L S g L
4 Rk AL BiLL PLISE 5591 EXTRUDED ALUMINUM PRESSURE e
SP8545 EXTRUDED ALUMINUM COVER CAP
i 1R, a7a FAL KU, G 1/4-30 X 1 3/4 HWH. SCREW TYPE "F"
.C. TEK SCREW EMBEDED IN SEALANT LOCATED @ 6° O..C.
ATTACH CLOSURE FLASHING TO SILL PLATE USED FOR INSTALLATION PURPOSES/ H PRESSURE CAP TO RAFTER
3/16 x 1/2 FOAM TAPE NOT PART OF PRODUCT APPROVAL D HD IN DOW CORNING 795 SILICONE
ALLOW 3/4" INTERRUPT © EACH RAFTER C.L. y
E : } GABLE SILL
NOTES:
7 DETAIL 1. SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES. / Of 12



WOOD BLOCKING
(NOT PART OF PRODUCT APPROVAL,

.040 FORMED ALUMINUM CLOSURE FLASHING

#2 x 1 HW.H. TEK SCREW

LOCATED @ 12" O.C.
ATTACH ANGLE SPACER TO PURLIN

.040 FORMED ALUMINUM ANGLE SPACER

1/4-20 X 1 3/4 HW.H. SCREW TYPE "F"
LOCATED @ 6" 0..C.

ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE

.125 FORMED ALUMINUM PRESSURE CAP—/

CONT. 5/16 X 1/2 FOAM TAPE /| 1/;

i
CONT. SILICONE SEALANT /] |
USE DOW CORNING 795

1

TO0985 EXTRUDED ALUMINUM

INTERNAL LUG
12 HIP
8 DETAIL

1]
CONT. EPDM GASKET \f”

1
I
1/4 x 1/2 SETTING BLOCK 1]
(2) PER BAY 4 LONG LOCATED © 1/4 POINTS "\
3/16 ALUMINUM GLASS REST
(2) PER BAY 4 LONG LOCATED © 1/4 POINTS )
1/4-20 X 1 3/4 HW.H. SCREW TYPE “F"
LOCATED @ 6™ 0..C.
ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE
$35591 EXTRUDED ALUMINUM PRESSURE CAP

S0B545 EXTRUDED ALUMINUM COVER CAP

1/8 x 1/4 ALUMINUM POP RIVET
LOCATED © 12" O.C.
ATTACH CLOSURE FLASHING TO ANGLE SPACER

1

#14 x 1 1/2 HWH. TEK SCREW
ATTACH PURLIN TO RAFTER
(2) PER END (4) PER PURLIN

HOBB57 EXTRUDED ALUMINUM PURLIN

29/32"

I
I
|
|
1
|
I

.040 FORMED ALUMINUM ANGLE SPACER——/
#2 x 1 HWH. TEK SCREW

LOCATED © 12" 0.C.—
ATTACH ANGLE SPACER TO PURLIN

.040 FORMED ALUMINUM CLOSURE FLASHING —/]

RO

WA SILL
. DETAIL |
WOOD BLOCKING

{NOT PART OF PRODUCT APPROVAL)

NOTES: .
1. SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES.

1/2 x 4 HEX HD LAG SCREW WITH FLAT WASHER
| ATTACH ALUMINUM ANGLE TO TEST BUCK

021-0729.0 5
07/25/202A

tion Date

WOOD BLOCKING 8
(NOT PART OF PRODUCT APPROVAL) |
,040 FORMED ALUMINUM CLOSURE FLASHING — .
T 1 T 1 [ |
#12 x 1 HWH. TEK SCREW T HH E
LOCATED © 12" O.C. \ a8
N\__1/2 x 4 HEX HD LAG SCREW WITH FLAT WASHERTTACH ANGLE SPACER TO PURLIN \ g2
ATTACH ALUMINUM ANGLE TO TEST BUCK i N\\__1/2 x 4 HEX HD LAG SCREW WITH FLAT WASHER =213
.040 FORMED ALUMINUM ANGLE SPACER || ATTACH ALUMINUM ANGLE TO TEST BUCK e
I 11l ! \ b
RIR
\_3sxsx3xaL0NG | L1 Il BIA
S{RUCTURAL ALUMINUM ANGLE I [ 11 | \ 3/8 x 3 x 3 x 8 LONG HH
1/2-13 X 4 1/2 HEX HD. CAP SCREW L1 | STRUCTURAL ALUMINUM ANGLE =l
D AT T i | Bl (Bl S Si8le
AND FLAT WASHERS N 3 NBE
ATTACH STRUCTURAL ALUMINUM ANGLE TO RAFTER 1/8 x 1/4 T Z.R'?fg _ L1 _ [ R e s - 32
ATTACH CLOSURE FLASHING TO ANGLE SPACER g [| ATTACH STRUCTURAL ALUMINUM A AFTE BN
1/4~20 X 1 3/4 HW.H. SCREW TYPE "F" N [ i<l
LOCATED ® 6" O..C. I | I 4{ l l
ATTACH PRESSURE CAP TO RAFTER £
EMBED HD IN DOW CORNING 795 SILICONE \ [l $%4 8
$35591 EXTRUDED ALUMINUM PRESSURE CAP ~ | i 1 Ry ,J;i?“ g
S08545 EXTRUDED ALUMINUM COVER CAP ! EEA R R A
I L\ I < CHIHERD
{ l Y } QO ®
g - w
HOB858 EXTRUDED ALUMINUM RAFTER /&T | 1] I 4—':'} [ -
/4-20 x 1 FLAT HD SCREW TYPE “F" CONT. EPDM GASKET | o g TS g g
ATTACH RAFTER TO INTERNAL LUG /| [ 11 | P g
3/8-16 X 3 1/2 HEX HD. CAP SCREW —:1 X
WITH FINISH NUT, LOCKWASHER HOBB57 EXTRUDED ALUMINUM PURLIN g ﬁg :
AND FLAT WASHERS BOTH SIDES #14 x 1 1/2 HWH. TEK SCREW ﬁ g L
ATTACH INTERNAL LUG TO RAFTER ATTACH PURUN 70 RAFTER 5 3».
(2) PER END (4) PER PURLIN Q .,i ﬁ E
RIDGE WRRE &
—
\8/ DETAIL i
L1 ) ll g
o~
I o I N
[«2)
S08545 EXTRUDED ALUMINUM COVER CAP | ! B |
$35591 EXTRUDED ALUMINUM PRESSURE CAP ~J% N ©
1/4-20 X 1 3/4 H.W.H. SCREW TYPE "F" I
LOCATED © 6” 0..C. |
1/2-13 X 4 1/2 HEX HD. CAP SCREW ATTACH PRESSURE CAP TO RAFTER I
WITH FINISH NOT, LOCKWASHER EMBED HD N DoW CORMEIC 782 SLISCRE.
(" AND FLAT WASHERS BOTH SIDES 2) PER BAY 4 LOIGG erelye /4 PONTS 1T T I
ATTACH STRUCTURAL ALUMINUM ANGLE TO RAFTERC 0CK . I
1/4 x 1/2 SETTING BLOCK , .
3/8 x 3 x 3 x 8 LONG (2) PER BAY 4 LONG LOCATED @ 1/4 POINTS B
/’ STRUCTURAL ALUMINUM ANGLE R |
tl

CONT. EPDM GASKET

14 HOR]ZONTAL:
\8/ DETAIL

HOB857 EXTRUDED ALUMINUM PURLIN
#14 x 1 1/2 HW.H. TEK SCREW

ATTACH PURLIN TO RAFTER

(2) PER END (4) PER PURLIN

DADE COUNTY USE

the Florido

PFRODUCT REVISED

ntrol

/,“%;u’floaﬁf“:

Y
-F 5w

|SECURE SERIE

LARGE MISSLE
DETAILS

B, P

5, ool i
Y10, 0L Tl
TS I




.040 FORMED ALUMINUM CLOSURE FLASHING

.040 FORMED ALUMINUM ANGLE SPACER
#12 x 1 H.WH. TEK SCREW

LOCATED @ 12" O.C.

ATTACH ANGLE SPACER TO PURLIN

WOOD BLOCKING
(NOT PART OF PRODUCT APPROVAL)

~
~
1/4-20 X 1 3/4 HWH. SCREW TYPE "F* ~
LOCATED © 6" 0..C. S
ATTACH PRESSURE CAP TO RAFTER ~

EMBED HD IN DOW CORNING 795 SILICONE ~ _ ™

~. ~
S08545 EXTRUDED ALUMINUM COVER CAP ™~ ™~ __
~

2|2
5(3
515
@lom
&|5
$35591 EXTRUDED ALUMINUM PRESSURE CAP o
CONT. SILICONE SEALANT 1/8 x 1/4 ALUMINUM POP RIVET e|e
USE DOW CORNING 795 LOCATED © 4* 0.C. B|g
ATTACH CLOSURE FLASHING TO ANGLE SPACER 3|z
|/ R
Vol 3
Py S — 2|36
Ly << E
- .040 FORMED ALUMINUM ANGLE SPACER
AY £
\ N #12 x 1 HWH. TEK SCREW RSy g
LOCATED @ 12" O.C. N &
3\ ______ ATTACH ANGLE SPACER TO PURLIN By s
I
\ #14 x 1 1/2 HWH. TEK SCREW <HEETES
HOB857 EXTRUDED ALUMINUM PURLIN 2 ATTACH PURLIN TO RAFTER k-
—_— " Vs (2) PER END (4) PER PURLIN Vsiz °
8
#14 x 1 1/2 H.WH. TEK SCREW =D oo
TITACH PURLIN TO RAFTER | H08857 EXTRUDED ALUMINUM PURUN & el -:o g
(2) PER END (4) PER PURLIN 5/8-11 HEX HD. CAP SCREW ve— g E
T, ‘o WITH FINISH NUT, LOCKWASHER $-ix 3l
o ~_~_< AND FLAT WASHERS BOTH SIDES S §dze
™o R ATTACH STRUCTURAL ALUMINUM ANGLE TO RAFTER :3 ST
S o 4 1/2° LONG AT INTERIOR RAFTERS P S
q ~ k 1 1/2° AT EACH CORNER gggi
- ——— .040 FORMED ALUMINUM CLOSURE FLASHING [ R-E 1
N\ 3/8 x 4 x 4 x 6 9/16 LONG s
TS STRUCTURAL ALUMINUM ANGLE i
. 15/16 |~ 2 11/32" 2 11/32° 15/16™ /= (2) PER INTERIOR RAFTER <
g ~ / (1) AT EACH CORNER &
b e 5/8" DIAMETER ITW RED HEAD ADHESIVE ANCHOR WITH Y
15 JAMB " ~ / A7 ACRYLIC ADHESIVE 5 5/8" MINIMUM EMBEDMENT
- CENTERED IN WALL WITH ASTM A133 GRADE B7 )
9 DETAIL S (SAE 4140) THREADED STEEL ROD WITH FLAT AND LOCKWASHER
QUATER SCALE / LOCATE AT 2 1/4” MAXIMUM FROM HEEL OF ANGLE
= SEAL IN AND AROUND LUG AND FASTENER
L= wf USE DOW CORNING 795 SILICONE
a . 0 =3 . s .040 FORMED ALUMINUM SILL PLATE
i a4t . gg—g . © a4 <
B %‘—;é A ¥ BT #10 x 1/2 S/S PAN HD. SM.S,
e . == - o LOCATED © 12" 0.C.
Q. A S . ATTACH CLOSURE FLASHING TO SILL PLATE
‘ - == <
e . -4 B L 3/16 x 1/2 FOAM TAPE
SO St < 4 ALLOW 3/4" INTERRUPT @ EACH RAFTER C.L.
< 5 %t‘-% . L4 /
7 B : a
b . .4 ggﬁ-,g o CONCRETE CURB
4 .7 £ e " . | (NOT PART OF PRODUCT APPROVAL)
' 4., = . s i

NOTES:

CONT. EPDM GASKET

1/4 x 1/2 SETTING BLOCK
(2) PER BAY 4 LONG LOCATED © 1/4 POINTS

1/4-20 X 1 3/4 H.W.H. SCREW TYPE “F"
LOCATED © 6" O..C.

ATTACH PRESSURE CAP TO RAFTER ;
EMBED HD IN DOW CORNING 795 SILICONE g

3/16 ALUMINUM GLASS REST
(2) PER BAY 4 LONG LOCATED © 1/4 POINTS
S0B545 EXTRUDED ALUMINUM COVER CAP

S$35591 EXTRUDED ALUMINUM PRESSURE CAP

i . s

4
[
\

—

I

/T SILL

\9/ DETAILL

HALF SCALE

ith the Florida

wlY-0729.05

ion Dte ©772.8/ 2029

1. SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES.

DADE COUNTY USE

PRODUCT REVISED

LARGE MISSLE
DETAILS

= <rd, Ty
Expiigtion Datz

A £ Dagedtdduct Contro

4
i




WEEPAGE AT SILL

BE PICKED UP IN THE
WELL OF THE PURLIN
AND TRANSFERRED TO
THE CONDENSATION
JRACK OF THE RAFTER.

IF ANY WATER WOULD \
HAPPEN TO PENETRATE THE ‘ :
SILICONE JOINT IT WOULD \ ol o /

DATE:

__T00985 EXTRUDED

2. k| 8/10/19 JUPDATED T0 2017 BUILDING GODE
[N KM.J4/28/18 JUPDATED T0 2014 BUILDING CODE

ALUMINUM INTERNAL LUG z
3/8-16 X 1 1/2 HEX HD. TAP BOLT ——— B
WITH FINISH NOT, LOCKWASHER = S— g
AND FLAT WASHERS BOTH SIDES %V §
ATTACH INTERNAL LUG TO COMPRESSION RING ,3;} '53;‘%::% g
= RNy ALY
< §
= N Fi
O %5
— Rt ge i
%
— Rel s
) 2 2 : Bk
; \ DN : £ fade
EXTRUDED ALUMINUM COMPRESSION RING %, ( ¥ &, % 1/4-20 x 1 FLAT HD SCREW TYPE “F” ;j N L
X ; N ATTACH RAFTER TO INTERNAL LUG O 2 S*
THE WATER THEN RUNS gjgg
DOWN THE CONDENSATION S §iz
TRACK ONTO THE SILL PLATE. ®
FROM HERE IT WILL WORK
ITS WAY FORWARD TO THE o
EDGE OF THE SILL PLATE <
AND DRAIN AT THE 3/4" VOID N\ N
IN THE SPONGE GASKET. NN ~
VOID FILLED WITH 30 PP WEEP BAFFLE. NN
NN
N\ ©

WEEPAGE AT INTERMEDIATE

/78 COMP. RING
\J0/ DETAIL

IF ANY WATER WOULD
HAPPEN TO PENETRATE THE
SILICONE JOINT IT WOULD
BE PICKED UP IN THE

WELL OF THE PURLIN

AND TRANSFERRED TO

THE CONDENSATION

TRACK OF THE RAFTER.

DADE COUNTY USE

A LARGE MISSLE
DETAILS

DUCT REVISED
niy ~ith the Flodda

DD £

THE WATER THEN RUNS
DOWN THE CONDENSATION
TRACK TO THE SILL PLATE.

g~ 2%

Jrsaact LonlE sl

, Y, S0Mar W
YOTSSE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES. ; "y e m\\’q\ ]OCE_Z_




~
2] 2 2.5} 3 ’
= 2
L &
g T2 Pils o]
e 8 o 10 I &
- ( o —{ |—0.125
5 o ' , g
3 I I 8 o ’ 'L -——1240——-—-—1260——| 9 §§§
atd qf =] 2.500 1
g l
° 1.250 1.250 HH
o L 1.250 —— 1.250 —
3 —{[—0.100 AFE: 0.7307 2,500 g e
o Perimeter; 15.0209 e
Bounding box: X 12405 — 1)'25%%78 o 11875 8|5
. )Y(: E%é‘gg’z Sl Perimeter: 19.0000 RlR
g 9 Moments of inertia: ¥ 04177 Bounding box: X: —1.2500 —— 1.2500
S o W 00057 Y: —1.2500 —— 1.2500 BIE
% —1.244 ——1.256 — Product of inertia: ~ XY: —0. Moments of inertia:  X: 1.1195 <%
_ Radii of gyration: ﬁ: 8;32? Y: 1.1195 5|5
* 2Tl i ia: : 0.0000
Principal moments and X—Y directions about centrold: g; %%uztf of g‘gg}_:f’- §Y 0‘9909 g § 5
Area: 1.6983 I: 0.0800 along [1.0000 —0.0080] yr : ¥ 0.9709 2|8k
Perimeter: hasbol : .J: 0.4176 along [0.0080 1.0000] Principal moments and X-Y directions about centroid: ot -
Bounding box: X: —1.2438 —— 1.2562 Weight per lineal foot:0.86 Ibs, I 1.1195 along [0.7071 —0.7071] 21318
m Y: —2.0520 —— 1.9480 Aluminum Alloy: 6063—T6 J; 1.1195 along [0.7071 0.7071] » :
- Moments of inertia: X 3.4266 Weight per lineal foot:1.39 Ibs. g
* . Y: 1.4491 53] 71 3 PU RLlN Aluminum Alloy: 6063-T6 €
— —0.125 Product of Inertio:  XY: —0.0162 - 5
Radii of gyration: é 2)"9'?2?5‘; HALF SCALE 6’{‘5‘9‘%‘ g
Principal moments and X—Y directions about centroid: ﬁ HO1071 TUBE 3?:"&_,. E
I: 1.4489 along [0.0082 —1.0000] F TIALF SCALE &
J: 3.4267 along [1.0000 0.0082] U < §
Li Weight per lineal foot:1,99 |bs. . =
Aluminum  Alloy: 6063—T6 it LI 33 “
| ‘1 1 “ .N
H08857 PURLIN | | e
— 1.250 —— 1.250 — \ ; . - Y 3 §
2,500 HALF SCALE Sy .E § :
W =
:3 A §<
Area: 4.0777 R 3"‘
Perimeter: 54.9115 8 0.313 U Q
Bounding box: X: —1.2600 —— 1.2500 2 . (-6 S35
Y: —4.1528 —— 3.8472 ~ o <R
Moments of inertia: X: 31.3863 .
Y: 3.5664
Product of inertia:  XY: 0.0000 s
Radii of gyration: X: 2.7743 g
Y: 0.9352 ~
Princlpal moments and X—Y directions about centroid: 1.9456 o
I 3.5664 along [0.0000 1.0000] Q’e_‘” " 13,3088
. J: 31,3863 along [—1.0000 0.0000] Bezr‘;r(‘:lei enbOX' X:.—-1.0624 —— 1.0626 ©
Welght per lineal foot: 4,77 ibs. ounding box: Y: —1.5635 —— 0.9365
Aluminum Alloy: 6063—-T6 Moments of inertia: X 1.0731
/™ H08858 RAFTER X, \ea
\ Product of inertia: ~ XY: —0.0001
w HIALF SCALE Radii of gyration: $ gggﬂ
o { &aa Principal moments and X-Y directlons_about centroid:
a (. h I: '1.0731 along [1.0000 —0.0004]
o [-25% | J: 1.3224 along [0.0004 1.0000]
< 'f_ Weight per lineal foot:2.335 Ibs.
Iﬁ f & i‘ el 2 Aluminum Alloy: 6063-T6
0 © o
8 3 °
o
Area: 0.2110 Area: 0.2955 _mT00985 INTERNAL LUg fﬁ
Perimeter: 7.5289 Perimeter: 6.9688 U HALF SCALE <
Bounding box: X: —1.2500 -- 1.2500 Bounding box: X: —1.1634 —— 1.1626 —
Y: —0.4392 —-— 0.1228 Y: —0.1489 -— 0.2190 N o
Moments of inertia: X: 0.0048 Moments of inertia; X 0.0012 Ll _U_-IJ L
Y: 01783 Y: 0.1486 |l »n =
Product of inertia: ;(Yo(%gggo Product of inertia: ;(Y: o.oggo gl o <C
Radil of gyration: L Radii of -ation: : 0.06 iy
¥ 09191 o ke Orbdt DADE COUNTY USE al 2| =
Principal moments and X-Y directions about centroid; Principal moments and X-Y directions about centroid; e i
I: 0.0049 along [1.0000 0.0000] l: 0.0012 dlong [1.0000 0.0000] . XL LO
. ) J: 0.1783 along [0.0000 1.0000] J: 0.1486 along [0.0000 1.0000] G DSBS -
Weigl!t per lineal foot:0.25 Ibs. Weight per lineal foot:0.354 Ibs, g with the Florida 9] o 2 |
Aluminum Alloy: 6063-T6 Aluminum Alloy: 6063—T6 \ < W g<C B —
29-0729%0 nEJdEm
Yat P P RENT B
S08545 COVER CAP S35591 PRESSURE CAP e Q2 L2027
HALF SCALE HALF SCALE = /4 M\/
U FTocduct Control
NOTES:
1. SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES.




]
S > 8 s
o~ - o
- 22076 %% %!
| T & - ’
Description: Glass Rest 7/16" g
Size:3/16 Thick
Material: Aluminum (Alloy 6061—T6) gg;‘;fig%?;frbqilg:f § g
/\/\ Material: EPDM Rubber E ’g‘
5 3|2
k12 7 37
e a3 G & T
® o o
o Description: Gusset Plate ¥, 2 — 2|
< B . ] BlE
s ; = Size:1/4 Thick 5 - E|E
[S’FS?’E'P*;"' 45"":‘”"" Aluminum: Angls o Material: Aluminum (Alloy 6061—T6) = ' 3|8
e At ks o Manufacturer: Blltrite =
Material: Aluminum (Alloy 6061—T6) = Description: Setting Block HED
0 Description: Formed Cover Cap Material: Neoprene ,5-'\ Q g
® Size:,040 Thick S|
Material: Aluminum (Alloy 3003) REE
. .
g
- 2 I q<
= - \4 -
Yy ——' 1 5/16 '—— Vs\ 1 % g
[ ” (Y. k. ‘e"’%\» s
\//'\ \\/ —— 3/ Vet §
W@
Description: Formed Pressure Cap 8
Size:.125 Thick o o !m b4
Material: Aluminum (Alloy 3003) ?0 F ]
R %2 4
it H 4. 4- ﬁ M E
Description: Structural Aluminum Angle . le ;_‘ 5
Size:3/8 x 3 x 3 8 & gge
Material: Aluminum (Alloy 6061~T6) 1ol ) R 35
“ea
Description: Pop Rivet % ” “ Description: Hex Head Cap Screw with Finish Nut, Flot Washers and Lockwasher U ;oigg
= Size:1/8 x 1/4 B I Size:1/2-13 x 4 1/2 (o REE:
Material: Aluminum I I Description: Hex Head Cap Screw with Finish Nut, Flat Washers and Lockwasher Material: SAE Grade 2 Steel &

Il Size:3/8-16 x 4 1/2 [
Material: ASTM Grade 2 Steel

; o
Description: Pan Head Sheet Metal Serew (Pan Hd. S.M.S.) I | >
Size: #10 x 1/2 = — C S
Material: Stainless Steel [ j
L% % ©
Description: Hex Washer Head Tek Screw (H.W.H. Tek Screw)
Size: 12 x 1
Material: SAE Grode 2 Steel [.__EQ:
EZ . I
§ g g;se(f?p/g?—r;.;’; '16); Wt Top Bl with FIok Washer ol Lostomsher ; ” Description: Hex Head Cap Screw with Finish Nut, Flat Washers ond Lockwasher
= =2 erial: i Size:5/8~11 x 4 1/2 ' '
Description: Flat Head Screw Type “F" (F.H.S. Type “F") §:; = Materfal: ASTM A449 Grade 5 Lol Material; ASTM A307 Steel
Size:1/4—20 x Varies €2 o
Material: SAE Grade 2 Steel “ ”
[ w)
[ ]
Himal Nl 2
Description: Hex Washer Head Tek Screw (H.W.H. Tek Screw) ” ” Descri;ﬁon: Hex H;ud Tap Bolt with Finish Nut, Flat Washers and Lockwasher i ffl
Size: #14 x 1 1/2 Size:1/2-13 x 1 1/2
Material: SAE Grade 2 Steel O B 1 Material: ASTM Grade 2 Steel L—/J] 2
)
%_, DADE COUNTY USE LI s
= L
SO
g O
AL
Description: Hex Washer Head Screw Type "F" (H.W.H. Screw Type "F") ) dEm
Size:1/4-20 x 1 3/4 ith the Flosizs
Material: SAE Grade 2 Steel il

NOTES:
1. SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES.




